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SECTION A
*  Select and write one most appropriate option out of the four options given [7]

for each of the questions

1. The metal which is hard and has high melting point and used in filaments of electrical
bulbs is:
(A) Ni (B) Fe (C) Pt (D) W

2.  Anelement ‘A’ belongs to the third period and group 16 of the Periodic Table. Find out
the valency of A.

(A) Valency = 6 (B) Valency = 2 (C) valency =1 (D) valency = 3

3. Which one of the following depict the correct representation of atomic radius (r) of an
atom?
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(A) (i) and (ii). (B) (ii) and (iii). (C) (iii) and (iv). (D) (i) and (iv).

4. Which of the given elements A, B, C, D and E with atomic number 2, 3,7, 10 and 30
respectively belong to the same period?

a. A,B,C.
b. B, C, D.
c. A,DE.
d. B, D, E.
5. Three elements B, Si and Ge are:
a. Metals.

b. Non-metals.
C. Metalloids.
d. Metal, non-metal and metalloid respectively.

6. An element which is an essential constituent of all organic compounds belongs to:

a. Groupl.
b. Group 14.




10.

11.
12.

13.
14.

c. Group 15.

d. Group 16.
The element which forms a basis oxide has the atomic number of:
a. 18.
b. 17.
C. 14.
d. 19
Assertion - Reasoning based questions. [3]

For two statements are given-one labelled Assertion (A) and the other labelled Reason
(R). Select the correct answer to these questions from the codes (a), (b), (¢) and (d) as
given below:

a. Both AandR are true, and R is correct explanation of the assertion.

b. Both A andR are true, but R is not the correct explanation of the assertion.

C. Aistrue, butRis false.

d. Alisfalse, butRis true.
Assertion: Number of valence electrons decreases down the group.

Reason: Number of valence electrons increases when we move left to right in a period.

For two statements are given-one labelled Assertion (A) and the other labelled Reason
(R). Select the correct answer to these questions from the codes (a), (b), (¢) and (d) as
given below:

a. Both AandRare true, and R is correct explanation of the assertion.

b. Both A andR are true, butR is not the correct explanation of the assertion.

Cc. Alistrue, butRis false.

d. Aisfalse, butRistrue.
Assertion: Atomic size of As is more than that of P.

Reason: Atomic size decreases along a period.
For two statements are given-one labelled Assertion (A) and the other labelled Reason

(R). Select the correct answer to these questions from the codes (a), (b), (c) and (d) as
given below:

a. Both A andR are true, and R is correct explanation of the assertion.
b. Both A andR are true, but R is not the correct explanation of the assertion.
Cc. Alistrue, butR isfalse.
d. Aisfalse, butRis true.
Assertion: In Dobereiner's triad, the three elements present, have same gaps of
atomic numbers.

Reason: Elements in a triad have similar properties.
Fill in the blank with correct answer.[1 Mark each] [2]

Group 1 elements are called

On moving from left to right in a period in the periodic table, the size of the atom

Answer the questions.[1 Mark each] [2]

On what basis are they arranged now?

A metal M belongs to 13th group in the modern periodic table. Write the valency of the
metal.

(2]




SECTION B

Answer the following question. : [10]

What is the main characteristic of the last elements in the periods of the periodic table?
What is the general name of such elements?

The position of three elements A, B and C in the Periodic Table are shown below-

Group 16 Group 17
- A
B C

State whether A is a metal or non-metal.

State whether C is more reactive or less reactive than A.

Will C be larger or smaller in size than B?

Which type of ion, cation or anion, will be formed by element A?

Son T o

Consider the following elements:

Na, Ca, Al, K, Mg, Li.
a. Which of these elements belong to the same period of the periodic table?
b.  Which of these elements belong to the same group of the periodic table?

What were the two criteria used by Mendeleev to classify the elements in his periodic
table?

Which group of elements could be placed in Mendeleev’s periodic table later on,
without disturbing the original order? Give reason.

SECTION C

Answer short answer questions. [3 Mark each] [12]

Na, Mg and Al are the elements of the same period of Modem Periodic Table having
one, two and three valence electrons respectively. Which of these elements,

i. Hasthe largest atomic radius.
ii. Isleastreactive? Justify your answer stating reason for each case.

Two elements X and Y belong to groupl and 2 respectively in the same period of
periodic table. Compare them with respect to:

i.  The number of valence electrons in their atoms.
ii.  Their valencies.
iii.  Metallic character.
iv.  The sizes of their atoms.
V. The formulae of their oxides.
vi. The formulae of their chlorides.

The atomic masses of three elements X, Y and Z having similar chemical properties are
7,23 and 39 respectively.

a. Calculate the average atomic mass of elements X and Z.

b. How does the average atomic mass of elements X and Z compare with the
atomic mass of element Y?

C. Which law of classification of elements is illustrated by this example?

d. What could the elements X, Y and Z be?

(3]




4.
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e.

Give another example of a set of elements which can be classified according to

this law.

How could the modern periodic law remove various anomalies of Mendeleev’s periodic
table? Explain with examples.

SECTION D

Long answer questions [5 Mark each]

enTo

Why do we classify elements?

[10]

What were the two criteria used by Mendeleev in creating his Periodic Table?

Why did Mendeleev leave some gaps in his Periodic Table?

In Mendeleev’s Periodic Table, why was there no mention of Noble gases like

Helium, Neon and Argon?

Would you place the two isotopes of chlorine ClI- 35 and CI- 37 in different slots
because of their different atomic masses or in the same slot because their

chemical properties are the same? Justify your answer.

The following diagram shows a part of the periodic table in which the elements are
arranged according to their atomic numbers.

(The letters given here are not the chemical symbols of the elements):

a b @ d e f g h
3 4 5 6 7 8 9 10
i j k I m n o] p
11 12 13 14 15 16 17 18

I
ii.
iii.
iv.
V.
Vi.

Which element has a bigger atom, a or f?

Which element has a higher valency, k or o?

Which element is more metallic, i or k?

Which elementis more non-metallic, d or g?

Select a letter which represents a metal of valency 2.
Select a letter which represents a non-metal of valency 2.

SECTION E

case - based/data -based questions

The picture shows the modern periodic table.
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3. What do the columns (X) and rows (Y) stand for in the periodic table?

[4]

(4]




X =
Y =
4.Which of these columns in the periodic table contains chemically inert elements?
A. X1
B. X2
C.X13
D. X18
5. What is the order of arrangement of elements in the periodic table?
A. Increase in valency
B. Decrease in atomic mass
C. Increase in atomic number
D. Decrease in the number of atomic shells
6. What does the position of an element in the periodic table indicate?
Circle "Yes' or ‘“No’ for the correct response.

Does the position of an element in the periodic table show this?| Yes or No

How reactive the element is? Yes/No

What is the boiling point of the element? Yes/No

What is the number of atomic shells in the element? Yes/No




